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11.

12.

13.

14.

15.
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108
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(a)

®)

@

()
@)

(b)

. (a_)

(b)

following table. »
| X 25 30 35 40
y 0.2707 0.3027 0.3386 - 0.37%
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o : Cont...
What is Euler’s method?
. (OR)
What is the use of Milne's predictor-corrector method?

SECTION -C (30 Marks)
Answer ALL questions '
ALL questions carry EQUAL Marks (5 x 6=130)

‘Write the steps to find the positivé root of Newton -Raphson method correct to five

decimal places.

| (OR)

Write the steps to find the positive root of correct to two decimal places by Horner’s
method. ' ’

Prove that the operators are all linear operators.

“(OR) _
Find the value of f( x), using the Lagrange’s formula from the following table.
X 2 5 6 14
Y 94.8 879 81.3 68.7

Apply Gauss’s forward central difference formula and estimate f (32) from the

(OR | |
Highlight the advantages of central difference interpolation formulae.

Derive the formula for Trapezoidal rule and Simpon’s rule.
| (OR)
Explain Simpson’s three-eight rule.

. d .
Calculate the value of y(0.1) correct to 4 decimal froma-i— =1-2xy given that y(0) =

0 usiﬁg Taylor series method.
| (CR)

| Using Euler’s method, solve glf (x,y) with initial condition y(xo) =yg-
- X

Z-Z-Z END.
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N (Fxrst Semester)
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o ' SECTION-A (5 Marks ', . o
¢ Answer ALL questions .
ALL questlons carry EQUAL marks

' ;_‘ ‘F:F_': A square matnx A 1s Sald to be orthogonal 1f

i O =4 @) 4'= A"

= What is the dlfferentlatxon of (x)y w1th respect to x'? CE
B P [ReReaY

3 .

Sh e .

;Ify e"" then —‘i—x—"t - :
dx"

S ———

(lll) a e . : ». - (iV) an‘eax - \ -

1+x

(111) sm by o R ..-"(i"),,sec x-

-} - Answer ALL Questrons

-.-‘progressxon e e
If a ﬁ, are the roots of the equatron x + px +qx+r 0 f

.,ﬁ’ s a’B.

Maxrmum 50 Marks

ALL Questlons Carry EQUAL Marks:"j ' (5 x 3 = 15)
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| CGx1=8)
kB 'Identlfy arat10na1 cublc equatron whose roots are 2 3+J—' f,_ : .}':-ﬁ S T

). X +8x +23x-22=0_ C() x ~8x? -23x+22 =0
- (i) x7 +&x —23x+22 0 (i) % -8x +23x 22 0

_Solve the equatlon x -—12x +39x 28 O whose roots are in anthmetloal -

L

rm the equatlon SR

4 show that A satrsﬁes the equatlon A -—3A+21 =0 S
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